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EXAMINATION

(For Batch 2017 & Onwards)
(Sixth Semester)
BUSINESS RESEARCH METHODS
BC-6.6

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all, selecting at
least one question but not more than rwo

from each Unit. Q. No. 10 is compulsory.
Unit I

1. What is Business Research ? Explain the scope

and purpose of business research. 15
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- of 64 tubes observed for life showed a
mean life of 1190 hours and a standard
deviation of 50 hours. Construct a 99%
confidence interval for the mean life of
tubes. - 7+8

Unit IT1

7. What is Chi-square test of independence ? A
- social organization sought the views of parents
from three states on introducing sex education

at school level. The views were found as
under :

Gujrat Haryana Rajasthan Total

In favour 200 280 210 690
Against 600 220 190 1010
Total 800 500 400 1700

Whether the sample provides enough evidence
to support the view that the proportion of
parents in favour of introducing sex education
in schools is same in all the three states ? (2
=921 for df. = 2 at o = 1%). 15
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8.

The following information relates to the wages

(in ¥) of mill workers in two cities A and B :

City A City B

% 40 34

SD 5 6
n 8 10
Is there any significant difference between

wages in two cities ? Test at o = 0.01;

assuming (a) of =03 (b) of #o3- 15

What is a control chart ? A machine is set to
deliver packets of a given weight. Ten samples

of 5 each were analysed :

Sample del 2 BBAsEST 6 708 9 10
Mean weight : 15 17 15 17 18 14 18 15 17 16
Range et 8 9 7 124011 S

Draw ¥ and R charts. Also comment on the
state of control. (for n = 5; Ay = 0.577, D3 =
0B, = 2.115) 1

h
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7. wE-a s e ®n § 2 uE i

TTed A Thel W W AW faan @ SEen
A w oA rwl A faaEwl % gfes
e v W T
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w1 vEY W OASgd % S GRE W
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